TE: 8

Mlzt)—2> FRE20FE5HF17H

s
(/2]
(@]

SEHE 155—545—15%
—[z7n/7(ﬁ"';ﬂ? =%5)
IyF | mIKI fg = TR oy = I fiz
TUF * * 0—2 3—1 3 3 3 +0 | #ER
MKkl | 2—0 * * 3—-0 6 5 0 +5 2 %
A& | 1-38 0—3 * k 0] 1 6 -5 | = fi
®1:30~ ZvF VS MKl <EH>
@2:30~ TIIKIVS B&& TYF
®3:30~ JYFVSEHAESR mIIKI
— i 70v0(EHE1E
' K |HIIER| & & f% | &R x| = g3z
' % * 2—1 0—0 4 2 1 +1 BEE
mINER| 1—-2 * * 2—-0 3 3 2 +1 R fi
=8| o—0o | 0—2 * * 1 0 2 —2 | KR I
@ 9:40~ EE VS HJIIERM <gBH> EBF&-EBH
@11:00~ TJIEM VS & Eon-+ES
®12:20~ EF VS ER EfF&-FE»
=705 (EHEE
EFe | B 2 | FES | BS Ed= k| = g3z
EFE | %% 0—0 | 3-0 4 3 0 +3 | BFE
E % | 0-0 * * 0—1 1 0 1 —1 b/ A (7
hES | 0—3 1—0 * * 3 1 3 -2 |\ &
® 9:00~ EFF& VS BH <BH> BF-HIIEM
310:20~ E% VS FE% mIIEH-85

®11:40~ ERE VS fES

B4






I”', _j 'J"-I.l -—Jhao
)RRy )=
I\e 2ol )
E‘”‘ HASC
—KRY—7> FH20F5F10H (L)
SEERE 1558 —5%—15%
Aj‘n“: Z :é /S\AEEZ
JvF | ElFE | B B | Ba TR Z = = NE L
TIF **x [ O3—-0| 02-0 6 5 o 5 1
Effs | @0—3| %k | @0—1 0 0 4 —4 3
T 5% | @0—2| O1—0| *% 3 1 2 —1 2
FE] EE))
®9:00~ ZYFVSERE g B FES-BEE
®10:20~  TJYFVSE % BAA FES-E A
®11:40~ [EFAEVSE % FES BEE-E &
* XF—LRAYT 14 8:0054
BIOys (=)
E 5 |mIIER| ®IKI | R 1§ K = L2
E 5| *%x | ®@0—1| @0—4 0 0 5 —5 3
mIER] O1—-0| %k | ®@0—3 3 1 3 —2 2
KL | O4—0 | O3—0 | *% 6 7 0 7 1
(&)
M14:00~ EHVSHIIIERM mIKI
@15:00~ E4HVSTHIIIKI I &R
@16:00~ TJIIEMBVSTHIIIKI E 4
* RF—LRAYT 14 12:30%4&
cIOys(EB245)
FE 5> BB | B & | BR S3 KR = L2
FES | *% | @0—4 | @03 0] 0] 7 -7 3
BEE | 04—0| Kk | A2—-2 4 6 2 4 1
5 A |0O3—0| A2—2| %% 4 5 2 3 2
EF)) (21%]
@ 9:40~ PESVSEESR ' % 2vF-BRE&
@11:00~ FESVSER EF& TvF-E B
®12:20~ HABVSES TVF Eff&s-E E

* BEF—LAREYD 14 8: oo%ﬁ
KEIBEHEIBTHEWNV-LEY,




